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CS-

What is Normalization ? Explain the various forms
of Normalization.

ARATESRH 71§ 7 sEe fafvs w9 # a9emsy
Explain the following in detail :

(1) Aggregation Vs. Ternary relationship

(11) Entity Vs. Attribute

(iii) Conflict Vs. View serializability

frefafea #1 faarges T9emET

() THYE s W = fewmim

(i) TR W e

(iii) HifForee oM = HiRsTagsfafaet

Give formal definition and explain with example :
(1) Division operation

(ii)) Set operations

(ii1) Selection

(iv) Projection

TIERT gRT ST iR 3T |fed T9esy

(i) fediom sfmem

(i) ¥ AT

(iii) HerR™

(iv) SR

Draw the E-R diagram for college information
system. Explain components.

Ficrst o faed & E-R fo &1 aAwEu) so& aw@i
T FHSET
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
Te gH-1 ‘3, ‘T’ @R ‘g’ i wmel # fawfea ®
TIF GUE H IR U¥H & IW ST

Section-A 7x1=7

(Very Short Answer Type Questions)

Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.

Tug—H

(3fa &g 3T 999)

Tff g9 # SW NTI ST ST SW W EAER
T 35, Ush o A1 fushaq 30 vsai o 9o
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(iv)
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(vi)

(vii)
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Define DBMS.
DBMS =i afturfoa s
What are the types of Join ?
Sfs & F-F YR § ?
Write the full form of RDBMS.
RDBMS &1 quiey fafem |
What do you mean by Data Dictionary ?
T femmd 9 Ut F=1 acad § 2
What is DDL ?
DDL =1 § ?
What do you mean by atomicity in
transaction ?
TR B weifafadt § eusht # aead § 2
Define Data Independence.
TR sfetmed &l Rt it |

Section-B 4x6=24

(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.

gug—d

(g 3THT 999)

fFdl 9 gvdl & IR NI A9 ST IR A
sifyeram 200 =61 H qREifi wIfST) go® 99d
6 3Tt 1 T

2. What is Generalization ? Explain with suitable
example.

SRETESIYH 1 € 7 Sfud Serelur |ied 9HeEu |
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. What is integrity constraint ? Explain Referential

Integrity Constraint.
TN =" F1 § 7 ThIREd =i hig=d
HHEATRT |

. What is database administrator ? Explain its

responsibilities.
TeEd TeAf e F1 § ? 9wl fawefE &
THATSU |

. Explain different DDL and DML statements.

fafsmr v & DDL 3R DML %eHi &1 9983

. Explain different unary and binary operations of

relational algebra.

Rerera Tersion & fafis a8 9 Il ARyE Jasy |

. What do you mean by schema refinement ?

T TwE8= ¥ 3T9eRT = acd & 2

. Explain relationship algebra joints.

R Tersen Se=d & aR | Tt |

. What is Trigger ? How do we create triggers on a

database ?
forR #1 & 7 TP R ¥ fo"d & &4 a0 § ?
Section—C
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 12 marks.
gus—YH
& T v

ot - 5=l @ uvAl & SW SIfSU | o9 ST9H SW Al SAfhan
500 vr==i § qREifad $IfT | Y& 999 12 37 H B1
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